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a. Capacitor |y, Diode
11}0 e N R
a. HAR b, g

use or '
d rlo store electrical charge in a clreuit?
C. Transistor d. Resistor
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stances?

a. It |‘s equal to the sum of the individual resistances.

b. It is always less than the individual resistances.

c. It is always greater than the individual resistances.

d. It depends on the type of resistors used.
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13. What is the SI unit of electrical voltage?
a. Watts b. Amperes c. Volts d. Ohms
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14. What does CPU stand for?
a. Central Processing Unit

c. Central Program Unit
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b. Computer Programming Unit
d. Central Printed Unit

15. Which of the following is a type of software that manages computer hardware and
software resources?

a. Browser b. Operating System

c. Spreadsheet d. Word Processor
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16. What is the primary function of RAM in a computer?

a. Long-term storage of data
b. Temporary storage of data and program instructions

c. Displaying images on the screen
d. Managing external devices
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17. In a parallel circuit, what happens if one of the branches is disconnected?

a. The entire circuit is disconnected.

b. Only the disconnected branch is affected.

c. The resistance of the circuit decreases.

d. The current increases in the disconnected branch.
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18.Which electronic component can be used as an amplifier in a circuit?

a. Capacitor

b. Resistor

c. Transistor

d. Diode
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19.What does LED stand for in electronics?
a. Light Emitting Diode

b. Light Emitting Detector

c. Low Energy Device



d. Liquid Emitting Diode
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20. What is the imaginary line that divides the Earth into Northern and Southern
Hemispheres?

a. Equator b. Prime Mendian

c. Tropic of Cancer d. International Date Line
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21.Which of the following is the world's largest ocean?
a. Atlantic Ocean b. Indian Ocean

c. Arctic Ocean d. Pacific Ocean
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22. Which layer of the Earth's atmosphere is closest to the planet's surface?
a. Stratosphere b. Exosphere

c. Troposphere d. Mesosphere
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a. Lepa b. TRIITRBIR

c. TUIRBWR d. AIRAWR

23.What is the capital of Australia?

a. Sydney b. Melbourne
c. Canberra d. Brisbane
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24. What does ICF stand for in the context of Indian Railways?
a) Indian Central Factory b) Integral Coach Factory
c) Indian Coach Fabrication d) Indian Centralized Freight
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25. Which type of coaches is primarily manufactured by ICF?
a) Locomotives b) Passenger coaches

c) Freight wagons d) Metro coaches

25. ICF §RI UH; SR UhR & Hig fAffd gd 872

a) dieHIfeT SHEIEICIE!

c) HIeTarg Yerd d) el B

26. What is the full form of LHB?

a. Lower heavy Bogie b. Linke Hofmann-Busch

c. low height Bogie d. None of these
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27. What is the length of LHB coaches’ body?
a. 23570 mm b. 23545 mm

c. 23540 mm d. 23565 mm
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(a) 23570 mm. (b) 23545 mm

(c) 23540 mm (d) 23565 mm

28. Which country is the origin of LHB coach technology?

a. Germany b. France

c. Japan d. United Kingdom
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29. LHB coach bogies are known for their:

a. Lightweight construction b. High-speed capabilities

c. Enhanced passenger comfort  d. All of the above
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